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Note:-
1. All Questions are compulsory.
2. Numbers on the right indicate full marks.
Q.1 Coffee farms are also called (1
A) Gardens B) Orchids
C) Vineyards D) Fazendas
Ans:D
Q.2 GST aims towards tax all over country on various commodities and services. (1
A) two B) one
C) four D) six
Ans:B
Q.3 Brazil adopted GST system from (1
A) 1985 B) 2016
() 1984 D) 2017
Ans:C
Q.4 India has now switched to the which aims towards one tax all over the country on (1
various commodities and services.
A) Service Tax B) GST (Goods and Service Tax)
C) Income Tax D) Entertainment Tax
Ans:B
Q.5  Brazil has been the largest producer of for the last 150 years. (1)
A) tea B) coffee
C) rubber D) jute
Ans:B
Q.6 Gujarat, Rajasthan and produce the bulk of salt in the country. (1)
A) Madhya Pradesh ~ B) Maharashtra
C) Uttar Pradesh D) Tamil Nadu
Ans:D
Q.7  Steel, manganese and bauxite are available in the state of (1)
A) Karnataka B) West Bengal
C) Tamil Nadu D) Goa
Ans: A
Q.8 The in India is a big storehouse of different minerals. (1)
A) Eastern plateau B) Western plateau

C) Chhota Nagpur plateau D) Maharashtra




Q.9

Q.10

Q.11

Q.12

Q.13

Q.14

Q.15

Q.16

Q.17

Q.18

Ans: C

About __ of the India’s total fish production, comes from inland fisheries.

A) 40% B) 70%

C) 55% D) 60%

Ans:D

India is one of the largest producersof ___ both marine and inland.

A) meat B) fish

C) sheep D) goat

Ans:B

Brazil has a sea coast of around ____ and excellent fishing grounds off the Atlantic coast.

A) 7,400 km  B) 6,500km
C) 7000km D) 5,000km

Ans: A

is the currency of Brazil.

A) Euro B) Dollar

C) Pound D) Brazilian Real

Ans:D

Cattle, sheep and goats are also reared in the in the south of Brazil.
A) Savanna grasslands  B) Highlands

C) Coastal area D) Amazon Basin

Ans: A

Brazil's the largest exporter of coffee and in the world.
A) tea B) rubber

C) oats D) soyabean

Ans:D

and are major cereal crops of Brazil.

A) Pulses, Sugarcane  B) Rice, Maize

C) Wheat, Maize D) Barley, Wheat.
Ans:B

India is dependent on
A) industries B) mining
C) agriculture D) private sector.

Ans: C

India has a higher national income than

A) USA B) Brazil
C) UK D) China
Ans:B

USAisa country.

A) underdeveloped  B) developing
C) developed D) rich

(1)

(1)

(1)

(1)
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(1)

(1)

(1)

(1



Q.19

Q.20

Q.21

Ans: C

The economies of India and Brazil are of the type.
A) undeveloped  B)developed
C) developing D) highly developed

Ans: C

The economy of Brazil is mainly dependent on the activities there.

A) primary B) secondary
C) tertiary D) quaternary

Ans: C

India’s per capita income is less than in Brazil due to

A) low national income  B) massive population
C) big family size D) low foodgrain production

Ans:B
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(1)
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